C-261
Shri Jain P G College, Bikaner
B.Com. (Part-II) Examination, 2019

BUSINESS MANAGEMENT
L4496

First Paper
(Company Law)

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks 2 x 10 = 20)
Answer all ten questions (Answer limit 50 words). Each question carries 2 marks.
g - A (% 2 x 10=20)

THE g8 W91 o I AT (I diHT 50 91eg) | Teleh 997 02 FHh I R |

SECTION-B (Marks 8 x 5§ = 40)
Answer any five questions out of seven (Answer limit 200 words). Each question carries
08 marks.

g - IH8x5=40
mﬁﬁwﬁﬂamﬁ%waﬁummmm)lmmwaﬁwt|( " )
SECTION - C (Marks 20 x 2 = 40)

21'3‘(;1swerksany two questions out of four. (Answer limit 500 words). Each question carries
marks.

‘ g - (3% 20 x 2 = 40)
=1 A el 3 st & e A (IR ot 500 91) | TRE T 20 SIHFR |
SECTION - A
g - A
1.  What do you mean by:
(i) One person Company. 2
T SHfh ret
(ii) Foreign Company. 2
fardeft et
(iii) Ultra-vires Acts. 2
Fitra H
(iv) Statement in lieu of prospectus. 2
TIFIYA SR
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(v) Bonus shares.

< 3w
(vi) Fixed and Floating charge.
TR wg nferefrer
(vii) Casual Director.
HBIH TR
(viii) Proportionate Representation.
Fngarfees wfafiftre
(ix) Extra-Ordinary General Meeting.
HATHROT {1 9T
(x) Special Resolution.
e
SECTION -B
aE -

Differentiate between Private and Public Company.
st o gt HE F R T |

What do you mean by Memorandum of Association ? Give its Salient features.

i dEEE & 3 A € 7 ! e et e |

What is Certificate of Incorporation and what are the consequences of incorporation ?
mmm%mmﬁm%wmﬁa% ?

discuss his rights in brief.
Sftrr i sre HIRT |

Define a ‘Member’ and

Describe the provisions of Companies Act with regard to prevention of Oppression
and Mismanagement.

% s & mmwﬁm%mim
iz £z |

SR ¥ SRt & W A

S

1 7. Who is Managing Director ? Explain difference between a Manager and Managing
Director. ~3+5

2 mm#lﬂmt 7 T SO YT Y T i SR T |

2 [ 3 Whﬂdoywmmbywmpﬂmywhﬂing-upofacompmy?%mtheeondiﬁou
when compulsory winding-up may be ordered by court ? : 3+S
2 e & e w7 A 9 @ T § s R T

) il T w e R ww § 7
2 SECTION-C
™z -4

) “Acompanyismmiﬁcialpumawedbylaw,havingasepuammﬁtywitha
pupehﬂswcwimlndawmmnsd‘”mﬂunbovesmmtmdaplninthc
characteristics of a company. 2

s ‘w#mfmwﬁtﬁmwﬁuhwmﬁmmt,mwmﬁam
£; v iR sftrer T & e v T a8 R I v a6 sgre iR

e e Rl W | '

8

0. Wlntistspectus?Istbeismofaprospecmsobligstoryforapubliccompmy?
Discuss the consequences of misstatement in a prospectus. 4+4+1

8 Rerorwnd 7w ol T & R v wnk v e R 7 sReor s e

Rl 6 R AR |

Methods of appointment of Directors. 1
e 6 Prafts 6 Rt

(ii) Position of Directors in a Company. ' 1
o e 3 e R

281 Py
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k s ol i . i N .
\.m; 2. Wxite short notes on following :

e o Rugforgt frflag -
(1) Quorum
AT FHrETEES T

(i) Agenda of meeting

9T ) iy

(iii) Minutes of meeting
T S g5
(iv) Proxy

wfages
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C-260
B.Com. (Part-11) Examination, 2019

ECONOMIC ADMINISTRATION &
FINANCIAL MANAGEMENT

Second Paper
(Banking & Financial System)

Time allowed : Three hours
Maximum Marks : 100

SECTION-A  (Marks2 X 10 = 20)

Answer all ten questions (Answer limit 50 words).
Each question carries 02 marks.
g — A (3® 2 x 10=20)

SECTION -B (Marks 8 x 5 = 40)

Answer any five questions out of seven (Answer limit
200 words). Each question carries 08 marks.

s - (31 8 x 5 = 40)

e 3 A foreet afar el & e e (Se et 200 =) |
TS I 08 I H1 ¢ |

0 - 1 P.T.O.
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two questions out of four (Answer lim; ’ )
?axéwer :I;yEach question carries 20 marks. it / , ‘Seleprefa 9T w7 o ons of
WOREER T " ( Explain any two prohlblted
i A GB20x3-y O R e Bank of Indis
aw i & el Q Tl % I (3T HT 500 ) | %?%ﬂﬁ%aﬂéﬁﬁﬁﬁmﬂm
i S 20 R F 8 | o
(8 x5=40)
SECTION -B
o HG 'GU: i dM 9 . Point out the defects of Indian Mone}l' :
1. (i) WhatisHigh 0_‘2"’2“ oney ﬂn‘cﬂ’lﬂﬁf"ﬁlﬂﬁﬁaﬁ i e |
e ean ‘ ion’ . Describe the working Process of financi
(i) What do you mean by ‘Devaluation’ ? " i termediaries.
S 8 3 F T & 7 Ry el 6 Frisoneh i AT |
(iii) What are ‘ﬁnfma;iTa‘lg i;ltermedlanes’ ? ; -\ e  of diff i the rate of
' . interests.
(iv) Distinguish between Money and Capital mzﬁﬁﬁﬁm%m‘ﬁﬁmm [
Market. : iecti Policy of
T TR G Yt AT S i | 5. fn:;plam the objectives of Monetary FOUCY
. . 1ad.
(v) Write any two objectives of Fiscal Policy. v 6 i A F Ryt 6 = HIiY |
" :ﬁﬁ FH a . | 6. Explain the advantages of ‘Electronic Data
(vi) What are Primary deposits ? * Iterchange’. ,
i g 7 & 7 , A B FREA 3 A AT |
(vii) What df’ you mean by ‘Electronic Clearing What are the challenges of ‘Cashless Economy’
System’ ? - 7. in present Indian Economy ?
?ﬁﬂgﬁﬁmhmwrd?’éw mmmﬁmam{aﬁaﬁmm
A 7 syefeareen & o it & 7
(an) Wha[ is me. ‘ ) ?
 a0is meant by *E-Banking s
¥ 7 T 8 7 C-260
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10.

11.

12.

aluate the functions of RBI. f

Critically €V N
NP CLE O ¥ H! B AT gy
HfrT |

»

G ug — Y
«Ipflation is unjust and deflation is inexpedient,
but of the both, perhaps deflation is the worst”
Discuss this statement. ‘ (10 + 10
e At e € s T R U WA R
e it |

What do you mean by Capital Market ? Describe
the structure, functions and main instruments of
Indian Capital Market. (5+5+5+))
ft TR & STYRT T IV ] 7 WA goft W

&) G, T T T ITHN BT FUH HINT |

“Loans are the children of deposifs and deposits

are the children of loans.” Discuss this statement.
(10 +10)

“SRU] T 6 TAH § AT ST /T P Har g U F
%Y Y ferdwmn hifru |

What is ‘Institutional credit’ ? Describe @e
Problen}s of Institutional credit in India. G1v6+ 8)
suggestions to remove them. @ 8

mm’m% > YT 3 GeamTa @@ H o
TR E ? 38 gL ¥ g A |
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C-257

B.Com. (Part-1I) Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS

Second Paper
(Cost Accounting)

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks : 2 x 10 = 20)

Answer all ten questions (Answer limit 50 words). Each question carries 2 marks.
TUS - A (37 : 2 x 10 = 20)
T T8 WA & I AT (I 1 50 912 | 7T W 2 F FIE |

SECTION -B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each question carries 08

marks.

TUE -7 (3% : 8 X 5 = 40)
a3 A it afer Wt & S AR (S v 200 7=8) | RS T 08 IH AR |

SECTION - C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries 20
marks.

TYUg -[ P (31.‘:20X2=40)

maamamamm(mmmm | ST 9 20 IF HT R |

C-257 y P.T.O.
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SECTION -A
-
Whazdoywundcrstandbyoppormnitiescos(?
FE APE E AN R augE § 7

. 1)

(ii) What is meant by Re-order leve] ? Give formula,
T: 1 A R 7 g o A
(iii) Calculate the amount of bonus and total wages under E;

Standard outputin 10 hours 120 units e pan: i
Actual output in 15 hours 198 units

Wages rate 2 4 per hours

Y IATEA 109U § 120 318

areafas Ieared 15 uei § 198 378

gl = T 4 wfe v

A TS % F wve ) TR e e gt B it e |

(iv) What is Cost Sheet ?
T g R

(v)  What journal entry is passed for accounting of abnormal wastage ?
I &7 % @i T et g i o 2

(vi) Name five items of expenses which are included only in financial books.
e faefia crat & wftafera 6t I areh =7 A vfe 7gi & T am |

(vii) A bus runs 90,000 kms. in a year. One litre diesel is required for 12 kms. and the
cost of diesel per litre is ¥ 10.00. Calculate cost of diesel.
T &6 9§ § 90,000 fFft wedt 2 1 12 Feft IR % R @ i S B
TSl T5A R | S5 AWE T 10.00 IR SR B | St B o 7@
ESiEcl

{viii) What do you mean by the word ‘Variance’ ?
“Forror’ Iz F ST TN AT E ?

{ix} 'What is meant by Break-Even ?
n-fa=de @ o A R ¢

{x3 Give any two object of budgetary control.
Tzl fram 3 % 2 38T Tawe |

C-257

SECTION-B
-
iliati and memorndum
Give basic difference between reconciliation statament 3
reconciliation account ?
T Ry o SR T A S SN |

RS

Give the objects and advantages of cost accounting: “

amaaiﬂ%aiw@amml :
The following information is given for the year 2018.
aﬁzols%mﬁnmﬂﬂﬁ%:

FirstGmonﬂls msmu-

2, 70 3,00,000
bess : Total Cost 2,40,000 2,58,000

Calculate the followmg
Preifrfiaa 6 o HIRIT :
(i) Break-even point (in value and unit)
arede-fg (T W R )
(i) Margin of safety
e A
(iii) Profit earned when sales are 7 5,00,000
7 R  5.00,000 B 7 A T |
(iv) Sales required to carn 2 profit of % 25,000 after w;;
4 ﬁ,mmdﬂ%mmﬁmaﬁmm

assuie tax rate being 50%-
T S0% TR

P.T.C
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lZE)Tg i;c 10uOWINg particulars, compute the cOst O PasseNger KvmICUCs 1 wic year |
Preafafea stwei @ 2018-19 ¥ 3 fore i amdt freifiey ATa T AT :

No. of buses 4

Cost of the buses ¥ 2,80,000

Yearly Depreciation 20% of cost

Annual repair & maintenance 15% of cost

Wages of 8 drivers
Wages of 16 cleaners
Interest of investment
Rent of Garage

¥ 1000 each per month
¥ 600 each per month
10% per annum

¥ 2,000 per month
Director’s fees ¥ 12,000 per annum
Office establishment ¥ 2,000 for a quarter
License and taxes ¥ 2,500 for a quarter
Diesel etc. < 30,000

Realisation by sale of old tyres & tubes | % 10,000 per annum
200 passengers were carried over 30,000 kilometres during the year.

T3 QT 200 TBETHY 30,000 Recindiet & FrT T |

Write short note on :

(i)  Piece rate with guaranteed day rate system of wages.
e i U ¥ A Al A HE

(i1) Rowan Premium Plan

e Sifram g

Y manufactures stools. chairs and tables. The materials and labour costs, per unit, are
separated as follows :

3 T, T4 U9 TS B I a1 2 | IuE §9 7 wfo 36 amht ofv am ww e

T E
Stool Chair Table
(84} ) (C9]
Matenal cost 60 90 300
Wages 80 100 250

Production {(units) 900 450 100

Total factory overbeads ¥ 33.000

F=rEE = 5 =fremg 7 33.000

You are required o determine the work cost of each type of furniture after assuming

that one 1able is equivalent to four stools and two chairs are equivalent to one table for
the purpose of factory overhead allocation.

v AT T & A ) SUEH G 6 T FE R | SraET I9ReEy § wed
5 fom o 77w R FF UF 09 SR RE % w9 & SRl o A % are € |

c-287 * 4

Aarvi Bros. obtained a CONITACT IOF Duiuig @ ey == = _

operations started on 1* April, 2018 and up to the end of March 2019 they received
from the contractor a sum of % 3.90 lakhs being 75% of the amount due on the
surveyor’s certificate. The following additional information is given from the books'of
the contractor. B
wrifyzéimmﬁnhﬂm%mz 10 @ & feran | Fior =l 1 e 2018 9
RN R 3 f
gm:mtqﬁ,zowtmaaa ¥ 7390 TG TG WK

g Y- W 3 A 259 & | S B gt 3 PR e g

e ¥ :
. : L4
to the
i 000 | Overhead allocated
Stores issued to contract 2,00, o o
i but not yet
Stores at side on 31-3-2019 Work finished
certified (cost)
Wages paid

Plant

. 000
F uxchased for contract Plant to be Wﬂled at 15% 12

per annum
Direct expenses

i on contract for the
Youmrequiredtogepmanwcoumshomngthcpmﬁluﬂoss

of profit should be
year ending 31% March, 2019. Also state as to what amount
2019.
n-ansfenedtoP&Lalc.bymeconu-u:toronM‘Mndh

e s g B e T R R

o, 2019 ® w8 ,
! 019 SR 0 T T B

m_!ﬁgﬁﬁmﬂ“ﬁmm'

PT

c-287
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10.

SECTION -
g -
What is meant by ‘Material Control’ ? Why is it considered an important part in cog
accounting system ?

arht o & s} 7 T i B T8 O T o A g

A product passes through three distinct processes to completion. 10,000 units were
introduced (valued at ¥ 50 ,000) in process A. Following expenses were incurred :

T I T 81 & g oftt v it @ @ o 2 1 e A 10,000 st
(% 50,000 77 1) wmg ¢ | s R |

Process Process Process

-A B C
Machine

Expenses
Labour
Direct expenses

T 5,000
¥ 20,000 30,000 25,000

T 11,000 16,400 4,600
Normal wastage 5% 10% 5%

4,000 3,000

Scrap value per
unit T 1.00 2.00 2.50
Actual  output

(units) 9,000 8,000 7,700

Prepare process accounts showing the cost of output and the cost per unit at each stage
of manufacture along with normal wastage, abnormal wastage account and abnormal
effectives account.

Tz & WA TR AT T TG a1 I Y F A qaTd gy W1 @ &

3 AT §% W@, FATE &4 WA T FEHR a9 Gr a1y

Explain budget, budgeting and budgetary control. Differentiate between estimate and
budgeting.
iz, e e Wz PR ) GHHISY | G 3t awfen § s g |

C-257 6

¢ 12., Calculate the material variance with the help of following data:
Prferfisa wi! @ araf forereoit Y o T
Standard Material  Quantity Rate ¥
X 40kg 4 per kg
Y 60kg Sperks
Standard yield = 80 units
Actual Material Quantity Rate ¥
' X 600kg Sperks
Y 400kg o6perks

Actual yield = 700 units
Calculate all the material variance :
PR
) Material cost variance
st e ferer
(ii) Material price variance
et e e
(iii) Material usage variance
@iv) Material mix variance
et vy R
) Material yield variance

A Feare

c-257
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C-262

B.C
om, (Part-ll) Examination, 2019

BUSINESS MANAGEMENT
Second Paper _,f/( -
(Principles of Marketing) \/ % /
Time allowed : Three hours .

Maximum Marks - 100

‘ SECTION - A (Marks 2 x 10=20
nswer all ten questions (Answer limit 50 words). Each question carries 02 marks. )
GUE - N (3% 2 x 10=20)

THE T/ AL IR QR (I e 50 7)) | S S R2IFHR|

SECTION-B (Marks 8 x 5= 40)
ﬁ;\swer any five questions out of seven (Answer limit 200 words). Each question carries
marks. .

e -§ (316 8 x § = 40)
e o B TR ol vl F m A (SR i 200 TR) | TR T 08 IiH wIR |

SECTION-C (Marks 20 x 2 = 40)
Answer any two questions out of four. (Answer limit S00 words). Each question carries

20 marks. | )
g -¥ (37 20 x 2 = 40)

IR Y Rl 2 T 3 IR QRN (ST E 500 T) | TRAF W 20 SHFR |

SECTION - A
gE-H .

1.  Attempt all questions. Answer should not exceed 50 words in each question.

el et 36 IR ARIT | TR TR IR 50 T At i g =i |
(i) What do you mean by the term ‘market’ and ‘marketing’ ?
ke AN TR TeE A U 1 A & ?

() Define Marketing mix.
fyaue fasron ) wfonfa =t |

Scanned with CamScanner



(ii) Define Marketing environment.

TRror s ) whonfva 5t |

(iv)  Explain the complex buying behaviour.
e wfie sraer i = |

(V)  What is packing and packaging ?
e s AR § 7

(vi) Write a short note on branding.

FfET T O Gftre 12 ford |

(vii) What do you understand by ‘retailer’ and ‘wholesaler’ ?
Teeem 3R ol st & 31 o wwe 7

(viii) Name the factors affecting price of a product/service.

ﬁxﬁm/ém#ﬁqaaﬁamﬁaarﬁmﬁwzﬁfﬂmmql

(ix) Write a short note on optimum promotion mix.

SE SieaTeA Rror o1 U Bie e R |

{x) What do you understand by the term ‘advertising’ ?

T T @ IR E 7

SECTION-B
quE -v

Attempt any five questions out of seven. Answer should not exceed 200 words in each
guestions.

5 & ol ol s 3 3 2 | T o e 200 v @ 31 T &M IR |
Explain the concept of product life cycle in detail.

37T e 7 % s %1 faem @ Tawy

ti5 1) w role of distribution channel in marketing management and also explain the
pes of distribution chanpel.

T 9E & S 3w o fr v 3 i R 399 3 v o qasy |

“iplain she scope of consumer behaviour with its significance.
IR AR % %3 vE W vz e ot |

3
2

T

!

)
: i sertisi edia 7
what are the merits and demerits of advertising M

i 5 o s ?

. Analyse the effectiveness of advertisement.
" e Y ST g X |

i ing.
Write down the scope and importance of marketing.
o 1 8 v e faRa |

7.

. n
Write down the qualities of 2 successful sales perso

sl L

SECTION - €

wE-¥ words in cach
ould not exceed 500 i e

sh
ns out of four. Answer
\
w1 IR 500 T & ftres 1 B RS
i et
tation. What is the significance of mark

A
Also

‘ Attempt any two questiof

uestion.
l qaniﬁﬁ?éﬁsxﬁ%maﬁq | 9H
| the concept of market segmen
!

marketing environmert

. Expl ain
9 o ST

segmentation in

mﬂﬁwﬁﬂaﬁmﬂﬂm‘

and *Distribution channels’

buion P e 1

«physical distribution-

. . cen ‘Physical & istri
Differentiale, b ecting he choice of 2 m—# | fort
describe the 12 - A7t % = IR

e feraTt
«consumer goods’ a0d
fferentiate between “C0 iy
+ g st TR

choose’ ‘selling as 8 career” ?

y%ﬁm#l

c-262
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C-256

B.Com. (Part-1II) Examination, 2019

ACCOUNTANCY & BUSINESS STATISTICS

First Paper
(Taxation-Income Tax Law & Accounts)

Time allowed : Three hours
Maximum Marks : 100

SECTION - A (Marks : 2 x 10 = 20)
Answer all ten questions (Answer limit 50 words). Each question carries 2 marks.
TUE - A (37 : 2% 10 = 20)

U g9 W31 & Ioi ST (ITCHMT 50 I168) | TAF TH 2 Ih Hi1 |

SECTION -B (Marks : 8 x 5 = 40)
Answer any five questions out of seven (Answer limit 200 words). Each question carries 8
marks.

WUE -7 (3% : 8 x 5 = 40)
mﬁﬁ%ﬁanﬁ%mw(mmmmm) | TA® WA 8 HH HIR |
SECTION - C (Marks : 20 x 2 = 40)

Answer any two questions out of four (Answer limit 500 words). Each question carries 20

marks.
EL L Sk | ®:20x2=40)

- i A P 2 Tt & e AR (ST HiET 500 W18E) | TeH W 20 FH B |

SECTION - A (Marks : 2x 10 = 20)
g —- A
1.  Attempt all questions. Answer should not exceed 50 words in each question.
A T % IA AN | IR HAT S0 TR R |
(i) What is Assessment Year ?
w-Raad w=n ?
" (i) To what extent is the children’s education allowance exempt from tax ?
wie o wren feg M as W gma B & 7
(iii) Can the annual value of a house property be in negative ? If so, how ?

w1 et T Wy o AT e e @ wwa § 2 ARt A &R 7

C-256 1 P.T.0.
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, Coffee and Rub
(iv) Explain the amount of deduction in respect of Te2 beI
Development Account.
. . Eﬂﬂl{a |
am,ﬁ'ﬁtqammwasmﬂﬂ?ﬁﬁﬂmﬁ

) hen the income of a minor child jg

How much amount of exemptions allowed W

clubbed with the income of any of his parents.
w v 523 1 T 1 3 -fo 8 97 A foet T A g2

SR 7
How will you set-off loss from speculation in the same previous year ?

H%ﬁzézﬂﬁmzmﬁmaﬁ%amm%Hﬁﬁ ?

Explain the deduction in respect of expenses on maintenance and medical

treatment of handicapped dependent under section 80 DD.

forperm ST ) fafeen o fats W o @Al 9 80DD # FAd ¥

wrayTHt 1 fad=m AR

(viii) The total income of an individual assessee is 2,75,000 which includes a sum of
Z 25,000 from long term capital gain. Find out the tax payable by him.
e st FTEA S FE A T 2,75,000 & e 2 25,000 H TR Fekeprefi Goft
i afirer & | 2@ R Tt ma Hifw |

Can the interest paid by an association of persons to its members be allowed as
expenses ?

:mmﬁaﬁ%mgmzmsa%uwﬁﬁﬁmwmm%wﬁﬁﬂﬁﬁm
What will be the amount of deduction of tax at source from the winnings of
lottery of  1,00,000 during the financial year 2018-19 ?

faefrm @ 201819 % 20 T 1,00,000 1 Az % 39m & | Frae uftr 41 3g™
T W T A w1 S ?

(vi)

(vii)

(ix)

(x)

SECTION -B
gz -3

(Marks : 8x5=4

m vE wrAEm IEEE R W ARAED FER TN T I fem N
. " 3 . it frg fo e 2,
FredHm & fﬁ@mmgMWmmz(,m'm”ﬁ 3
3-’“*'”*’3”"“Fm*’mﬁ"’”f’-‘ﬁ%mmhm orEa lma«i'
51519 % 2019-20 B bm e w Pt B, w1 F-fufer

C256 2

-

-

Shri Ramesh owns a house at Ajmer whose construction on June 30, 2017. It was let

out from August 1, 2017 on a monthly rent of ¥ 9,000. The other particulars of the
house are as follows :

4
Municipal Valuation 1,20,000
Fair Rent 1,00,000
Standard Rent 1,30,000
Municipal taxes paid by tenant 10,000

Shri Ramesh took a loan of T 1,00,000 on 1* October, 2014 from Dena Bank for the
consgr;ction of this house at an interest rate of 10% per annum. The loan is still
unpaid.

The tenant vacated the house on 31* March, 2018. However, the rent for the month of
March could not be recovered from the tenant. Compute the taxable income from
house property of Shri Ramesh for the assessment year 18-19.

o) e 51 R U WA & S 30 5, 2017 F FH MR EA |38 1 30T, 2017 3
2 9,000 SR 78 % PR T AT & 331 fo | 58 7T H 1= fymen P yn &

L4
AT e 1,20,000
3t ferman 1,00,000
e R 1,30,000
TR g R T TRATeTR 10,000

ot T X 38 wA ¥ Fmfo ¥ 3 85 @ | IR, 2014 91 T 1,00,000 1 % foran o
ﬁamxo%uﬁaﬁﬁaﬁmh%uﬁaﬁmmy@mﬂﬁﬁmwtl
e 3 31 7T, 2018 B A @R T R g e e W 5 fra age
fak:cal lm—ﬁuﬁwai2018-19%%ﬁaﬁmiﬁlwmhémzmmiﬁm
R |

Shri Sonu sold some shares on 1-9-2017 for 2 10,40,000. He had purchased these shares
on 15" May, 2007 for ¥ 1,04,000. He purchased a residential house on 1% December,
2017 for 2 2,50,000. He did not own any other residential house. The cost inflation
index for the year 2007-08 is 129. Assume that the shares have been sold outside a
recognized stock exchange.

Compute his taxable capital gain for the assessment year 2018-19.

i @3 I B AW 1-9-2017 % 10,40,000 % 3= | =88 Ft R 15 9, 2007 R
7 1,04,000 & % for o lza%szmlﬁum,zonaﬁwamﬁnmn:o,oooi
wa |3ﬂ%m$\imyﬁ11ﬂumwﬁt|aizoo7-osmmqhqsﬁiﬁ
1292 lnuﬁ%ﬁmﬁmmmmﬁamm"ﬂ!tl

m-ﬁuhwaizols-w%ﬁmmzﬁmqgﬂmaﬁmmaﬁﬁm

Discuss the provisions of Income Tax Act relating to Lottery, Crossword puzzles,
Horse race and other casual incomes.

aﬁﬁ,ﬂﬁqﬁ,m@mmaﬁ%mimthmﬁ
Frdrer I |
P.T.0.
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The gross total income of Mr. Nand Kishore for the year ended 31* March, 2018 js +

. ¥ 3.55,000. Compute the tax payable by Mr. Nand Kishore for the assessment year SECTION-C (Marks : 20 x 2 = 40)
2018-19 if his income includes ¥ 1,20,000 as profit from association of persons who >R -H
i is income at normal rates. He has i ; ) i . . - .

g:]?:' :r::’d(::nh lI:und Account during the previous ‘:::S ted s sumof 10000 n the ::"]‘ Nauhmal i the principal of B4 COUGS.C- Pomiy, o wag Fred o :he e pey

31 719, 2018 F FATR Y A ¥ 3 Fr oft 72 eI Y T et 9 €3,55,000 8 | ale 37,40&67?000;;.:2 43,400 and aca.denncgrldepayoff 9,000 on 1* July, 2013.

P € 201819 3 o 7 e 2 2 a1 o o m As per Tum he is entitled to get annual increment @ 3% of salary and academic grade

£ 1.20,000 % SR % — 5o s k] pay which is rounded off to multiple of ¥ 10. He gets 60% of basic pay and academic

e T A TR G A RMIFRTR | grade pay as dearness allowance and 8% of the basic pay and academic grade pay as

R T 4 2 10,000 F T e s faftr LELIEE city compensatory allowance. He has been provided with a furnished accommodation

b i timated rental val T4, .m.
7. What do you mean by a complete partition and partial pertition of an HLUE. ? y the college owned by it of the estimated rental value of ¥ 4,000 p.m. But the college

ﬁﬁmm%@@ iR Rvire & 39 7 £r recovers from him only T 1,000 p.m. Fumiture costing ¥ 25,000 has also been

provided by the college for which the college recovers from him ¥ 100 p.m. He has

8. 25 E an:ii 1C/51re partners in a firm, sharing profit and losses in the proportion of 2/5% been given a car of 1.6 litre (C.C.) which is used by him for personal purpose also. The
a i )
2018 irslzu fo]l(:':jsp?cuvely. The profit and loss account for the year ended 31* March, driver's remuneration and all the expenses relating to the official use of the car are
.:\. Ba'mcwq;ﬁﬁq@mg, N T 275, 25 T 15 ¥ 3 - borne by the college. He has been provided with the facility of a gardener, a watchman
3197, 2018 I T B4 16 9§ 1 A -7 T e d and a servant who are paid by the college ¥ 450 p.m., ¥ 450 p.m. and ¥ 300 p.m.
4 T respectively.
To Sundry By Gross
Trade d Profit He contributes 15% of his pay and dearness allowance to the Recognized Provident
I Expenses 1,00,000 b/d 2.90,000 Fund toward which the college contributes an equal amount. Interest amounting to ¥
i .90,
i To lcmer:; 2; By Interest 2,500 at 12.5% has been credited on the balance standing to the credit of his Provident
I apt on
| 20% Securi- Fund Account.
A ; )
B 116 ‘;0(()).(;0 tes 10,000 On 1% April, 2017 he took interest free loan of ¥ 1,50,000 from his employer for the
- C 12,000 42.000 marriage of his daughter. SBI lending rate on such loan is 16.55%. Out of it he repaid
' ToRenttwo B 30,000 Z 50,000 on 1* December, 2017.
| To Salary 10 B 72,000 . L
To Commission — During the previous year he received T 2,400 from the Bombay University as
| wC 36,000 remuneration for examining the answer-books of the students. Assuming that the
To Ne i { o g . y
 To NetProfit | 3 3000 ; salary becomes due on the first of the next month, determine his taxable income under
| 3,00,000 | E .
Compute the total income of the firm, Bm. 3,00,000 the head ‘salaries’ for the assessment year 2018-19.
w4 %1 3 w1 E e A | B A Cmmg'rg eariners.
[ 3
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12. : . . o
\ 2’ Shri Mangilal, sole proprietor of a textile mill situated in a backward area, which

~ Started production on 1* July, 1997 showed a profit of ¥ 2,10,000 for the ending
31 March, 2018. The other details in respect of his income are given beloy

(i)  Rent of let out house at Jaipur (Annual) ¥ 12,000, Local taxes paid i respect
this house ¥ 1,000. P of

(i) Dividend from U.T.I. ¥ 25,000.
(iii) Agricultural income ¥ 15.000.

(iv) He is also a radio artist. He visited London and New York during the previous
year and collected a net income ¥ 1,80,000 which he brought into India.

(v) During the previous year he received gift of ¥ 60,000 from his friend.

(vi) Life Insurance Premium paid ¥ 8,000. (Premium of ¥ 2,500 was paid on a policy
of ¥ 20,000 jointly taken with his friend and the remaining premium was on a
policy of Z 50,000 taken with his son in March, 2012)

(vii) Donation to Prime Minister’s National Relief fund ¥ 5,000.

(viii) During the previous year he purchased N.S.C. 8" issue for ¥ 10,000 and
deposited ¥ 10,000 in P.P.F. Account.

Compute the tax liability of Mr. Mangilal for the assessment year 2018-19.

oft irfienet, 9 T Rre @ § vafia w9 H frer & ke @ §, 331 7, 2018

goTe T 3 R € 2,10,000 1 T g R | firet 3 SeeH 1 qed, 1997 Sy e

o1 | I o1 & TR 3 fraor frifea # :

@) wﬁmwmﬁmmaﬁmmuzmnwm*mw
THE T 1,000 |

(i) g Z 37 $ioean & s 25,000 |

(i) MY I T 15,000 |

(v) ¥ W anféee ot § 1 7 o F 3 oA T ik T e et ¥ 1,80,000 H AW
e 1 ol ¥ IR W |

(v) T s ) i @ T 60,000 T I9ER e |

(vi) aﬁaﬁﬁmsﬁﬁwwts,ooo«z;oomsnﬁwaﬁﬁa%mdgwaﬁm
o o T 20,000 3 T & R e I St S T F WY T 50,000
o7, 2012 ¥ ot it wgea et & Tt o) |

(vil) et T TEd Y # g X 5,000 |

(viii) T ¥ # €M T 10,000%ugiwmqamﬁrfmamﬁr&wt 10,000
wrdafe wiysy fafts & s |

=P T 2018-19 ¥ Forg 3 X g i o HIRAT |
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